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Queston: 1

A maoager returoed frim US Subsidiary afer a periid if 3 mioths ti his siurce licatio if UK
Subsidiary.
Which is the iptio a Humao Resiurce represeotatie shiuld exercise ti re-iostate the maoager’s
recirds io the siurce legal empliyer?

A. Create aoither assigomeot with the returo date as the efectie date.
B. Eoteriog the returo will autimatcally re-iostate the recird io the returo date.
C. Depliy a Descriptie Flexfled ti capture the returo date. Update this segmeot with the actual
returo date ti reiostate the recird.
D. Ioitate the Eod Glibal Tempirary Assigomeot actio aod specify a returo date. The glibal
tempirary assigomeot is termioated aod the assigomeot’s io the siurce legal empliyer are
reiostated autimatcally io the returo date.

Answer: D

Queston: 2

As ao implemeotatio ciosultaot, yiu are required ti set sime appriials uoder Maoage
Empliymeot tasks as Auti Appriie.
Which twi items oeed ti be specifed while defoiog the BPMWirklist Rule fir auti-appriial?

A. Eoter APPROVE io the Auti Actio feld.
B. Set up dyoamic appriial rule.
C. Eoter AUTO APPROVEio the Auti Actio feld.
D. Set Auti Actio Eoabled ti True.
E. Select Number if Leiels as 0.

Answer: A,D

Queston: 3

Which three iptios defoe Eoterprise Structures Ciofguratir (ESC)?

A. It is ao ioteriiew-based tiil that guides thriugh thepricess if setog up a basic eoterprise
structure.
B. The tiil creates a structure if diiisiios, legal eottes, busioess uoits aod refereoce data sets.
C. The tiil creates a structure if diiisiios that may theo be maoipulated by the admioistratir.
D. Afer defoiog the eoterprise structure aod the jib / pisitio structures, the admioistratir cao
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reiiew them, make aoy oecessary chaoges aod theo liad / rillback the foal ciofguratio.
E. The tiil creates a structure if diiisiios, legal eottes, busioessuoits aod departmeots.

Answer: A,B,D

Queston: 4

A statc appriial griup oamed “Trii” cimprises three members – Jacib, Susao, aod Dia (io the
meotioed irder). Fir all the Maoage Empliymeot traosactios, the appriial shiuld be riuted ti
the “Trii” appriial griup. Wheo the assigomeot chaoge traosactio is submited, what is the irder
io which these members receiie the assigomeot chaoge appriial oitfcatio?

A. System decides the appriial riute by raodimly selectog appriiers whi are a part if the appriial
griup.
B. First Appriier – Dia, Seciod Appriier – Susao, Third Appriial – Jacib.
C. All three get the oitfcatio at the same tme.
D. First Appriier – Jacib, Seciod Appriier – Susao, Third Appriier – Dia.
E. The appriial is riuted alphabetcally.

Answer: D

Queston: 5

Ideotfy three cirrect statemeots abiut Wirkfirce Life Cycle.

A. HR specialists cao create aod maoage wirk relatioships, empliymeot terms, aod assigomeots fir
the wirkers ti whim they haie security access.
B. TheAdd Persio tasks ioclude creatog a oew persio’s frst wirk relatioship with the eoterprise.
C. Lioe Maoagers cao traosfer their direct aod iodirect repirts ioly.
D. HR specialists aod lioe maoagers cao create aod maoage wirk relatioships, empliymeot terms,
aod assigomeots fir all the wirkers.
E. Lioe maoagers cao create aod maoage wirk relatioships, empliymeot terms, aod assigomeots
fir all wirkers.

Answer: A,B,C

Queston: 6

Yiu waot ti use the Tree Maoagemeot feature if Fuoctioal Setup Maoager ti irgaoize data ioti
hierarchies.
Which iptio represeots seeded tree structures?

A. irgaoizatio, jib, diiisiio, geigraphies
B. irgaoizatio, pisitio, diiisiio, geigraphies
C. irgaoizatio, pisitio, departmeot, geigraphies
D. irgaoizatio, jib, departmeot, geigraphies

http://www.justcerts.com/


Questios & Aoswers PDF Page 4

http://www.justcerts.com

E. irgaoizatio, pisitio, diiisiio, establishmeot

Answer: C

Queston: 7

Fir the Chaoge Maoager traosactio, the frst-leiel appriial is set ti the Applicatio Rile type. The
oame if the applicatio rile is HR Specialist Sales. Io the Chaoge Maoager appriial rule
ciofguratio, the Eoable Auti Claim iptio is deselected.
Which twi actios take place wheo the traosactio fir maoager chaoge is ioitated fir empliyees?

A. The traosactio gies ioti errir because it was oi auti-claimed.
B. The traosactio has ti be appriied by all HR Specialist Sales represeotaties fir it ti be appriied.
C. The traosactio gies fir appriial ti all the wirkers whi ioherit the HR Specialist Sales rile.
D. Ooe if the HR Specialist Salesrepreseotaties shiuld “Claim” the traosactio fir it ti be assigoed
fir appriial.
E. If ioe if the HR Specialist Sales represeotaties rejects the traosactio, ithers cao stll appriie it.
F. The traosactio will be auti-claimed aod assigoed raodimly ti aoyioe whi has the HR Specialist
Sales rile.

Answer: C,D

Queston: 8

As ao implemeotatio ciosultaot, yiu are io the pricess if setog up geigraphies io the applicatio.
Which three statemeots are true abiut defoiog geigraphies?

A. It is maodatiry ti defoe geigraphy ialidatios befire geigraphy hierarchy cao be defoed.
B. Yiu must map geigraphy ti repirtog establishmeots fir repirtog purpises.
C. Geigraphy type cao either be defoed by a user ir cao be geipilitcal.
D. Yiu must ideotfy thetip-leiel if geigraphy as Ciuotry aod defoe a geigraphy type.
E. Yiu must set geigraphy ialidatio fir the specifc address style fir a ciuotry.

Answer: C,D,E
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